DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

121) 0644 =— 4 = 136) —1167 -1 =
122) 6.181 =1 = 137 —06598 =+ 10 =
123) 5412.8 — & = 138) 41.384 =7 =
124 —14.181 =+ 3 = 139) 38772 +6 =
125) —6434.4 = 7 = 140)  —4435.2 =9 =
1260 98990 + 10 = un - —=2264 5 =
127 —41818 = 7 = 142) 1517 =5 =
128) —H58&9 = 10 = 143) 51.919 + 7 =
129) 989275 = 3 = 1y —11.792 =4 =
13) —8.414 =2 = 145 39420 + 10 =
131) —31732 — 4 = 146)  5363.2 + 8 =
132) 1495.8 — 2 = U7 —T7384.8 =8 =
) —10.2 =3 = 1y —31.2+8 =
131) 18288 = 6 = 149 65.583 = 9 =
135 —10.011 =3 = 150 39210 = 10 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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